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EALy () mAMeV) i mikek  Br(NT— aN)(%)  Br(N* — KAN) (%)

Py (1440) 350 ¥ 60-70

Dy3(1520) 120 - 50-60 -
S11(1535) 150 - 35-55 -
S11(1650) 150 - 55-90 3-11
Dy5(1675) 150 - 40-50 <1
F15(1680) 130 + 60-70 ?
D45(1700) 100 - 5-15 <3
Py1(1710) 100 + 10-20 5-25
Py3(1720) 150 + 10-20 1-15
Py3(1900) 500 + > 26 -
F7(1990) 200-500 + > 6 ?
F15(2000) 100-500 + > 4-8 ?
Dy3(2080) 200-500 - > 6-23 ?
S11(2090) 100-400 - . 9-18 ?
Py1(2100) 100-300 + * 10-15 -
Gy7(2190) 450 - 10-20 ?
D;5(2200) 100-400 - * 7-10 ?
Hig(2220) 400 + 10-20 ?
Gig(2250) 400 - 5-15 ?
I 11(2600) 650 - 5-10 -
Ky 13(2700) 300-1000 + * 47 ?
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